Vectors
Relative to a fixed origin O,
e point P has position vector 6i — 2j

e point Q has position vector 4i—j

a. Find PQ
(2 marks)
Given that R is the point such that QR = 4i + 8]
b. Show that angle PQR = 90°
(2 marks)
Given also that S is the point such that PS = 3QR
c. find the exact area of PQRS
(4 marks)
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c. PGRS is a trapezinm with PS and (R being the parallel sides and PG +he height’.
—
[Pl = Y2z
-5
1 mark
—
|Q7P| = V42 + 0?2
_ 45
—>
|PS = wzﬁ
1 mark
/‘
Area = Zx(ﬂr 5 + 12\@) X\/E
1 mark
Area = 40

1 mark



